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QUESTION 1

Which command shows whether a LAG protocol is static or dynamic on a Dell EMC Networking OS10 switch?
A. show lacp neighbor

B. show running-configuration lacp

C. show interface port-channel summary

D. show port-channel summary

Correct Answer: D

Reference: https://topics-cdn.dell.com/pdf/force10-s4048-on_reference-guide6_en-us.pdf

QUESTION 2

Which configuration supports tagged frames on VLAN 20 and untagged frames on VLAN 5?

A. interface ethernet 1/1/9 switchport trunk mode allowed vlan 20 switchport access mode vlan 5 no shutdown
B. interface ethernet 1/1/9 switchport trunk allowed vlan 20 switchport access vlan 5 switchport mode trunk

C. interface ethernet 1/1/9 switchport trunk mode allowed vlan 20 switchport access vlan 5 no shutdown

D. interface ethernet 1/1/9 switchport mode trunk switchport trunk allowed vlan 20 switchport access vlan 5

Correct Answer: D

QUESTION 3

A customer reports they can no longer access their services and a network administrator has been assigned to
investigate. A UFD disabled error status appears on all ports. What caused the issue?

A. Spanning tree Loop-guard was implemented on the uplink-state group.

B. One of the upstream interfaces is an uplink-state group went down.

C. There was no issue; this is normal behavior.

D. Both a port channel and its members were assigned to an uplink-state group.

Correct Answer: A

QUESTION 4

How are ACLs processed?
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A. LIFO

B. FIFO
C. Randomly
D. Sequentially

Correct Answer: D

QUESTION 5

Which LSA type contains information about routes redistributed into OSPF?

Correct Answer: C
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